

Name				Medicaid	
Items	Maximum Allowed Maximum Cost		Needs	Approved	
chen					
Dish Sets (service for 4)	1	\$	20.00		
Silverware (16pc Set)	1	\$	10.00		
Kitchen Knife Set	1	\$	16.00		
Drinkware (8 count box)	1	\$	20.00		
Coffee Cups	4	\$	10.00		
Tea Pitcher	1	\$	5.00		
Plastic Storage set	1	\$	10.00		
Pots/Pans Set	1	\$	30.00		
Cookie Sheet	2	\$	10.00		
Cooking Utensils	1 each	\$	10.00		
Can Opener	1	\$	15.00		
Measuring Cups Set	1	\$	5.00		
Salt/Pepper Shaker set	1	\$	5.00		
Pot holders	2	\$	5.00		
Trash Can	1	\$	15.00		
Kitchen Towels	4	\$	10.00		
Zip lock Bags	2 boxes	\$	5.00		
Dish Cloths	4	\$	5.00		
Dish/Rack- Drainer	1	\$	10.00		
Ice Trays	2	\$	5.00		
Crock Pot-small	1	\$	25.00		
Coffee Maker	1	\$	20.00		
Microwave	1	\$	45.00		
Dining Table/chairs	1	\$	100.00		
Paper Towel Holder	1	\$	5.00		
Toaster	1	\$	15.00		
Mixing Bowls	1 set	\$	10.00		
	Other Items Ro	equested	Below for kitche	n	

Any other item must have prior approval from DOM attached to billing OR Items that are over the approved amount.

Maximum amounts are not to be exceeded without prior approval.



Items	Maximum Allowed	Maxir	num Cost	Needs	Approved
eaning Supplies	•	•	•		
Paper Towels	1 (12 pack)	\$	15.00		
Laundry Detergent	1 (96 Load Max)	\$	15.00		
Laundry Basket	1	\$	10.00		
Bleach	1 gallon	\$	8.00		
All Purpose Cleaner	1 bottle	\$	6.00		
Dish Liquid	1 32OZ bottle	\$	5.00		
Disinfectant	1	\$	8.00		
Broom	1	\$	10.00		
Mop OR Swiffer	1	\$	10.00		
Mop Bucket	1	\$	5.00		
Dust Pan	1	\$	5.00		
Toilet Brush	1	\$	6.00		
Trash Bags	1 Box(60 ct max)	\$	10.00		
Light Bulbs	1 (4pack)	\$	5.00		
	Other Items Reque	sted Below	for Cleaning Sup	oplies	
Δην	l other item must have pri	ior annrov:	al from DOM att	ached to hilling	<u> </u>
iletries	other item must have pri	ог арргот	ar iroini boivi att	actica to billing	
Shampoo/Conditioner	1 of each	\$	10.00		T
Feminine Products	As Needed	\$	15.00		
Soap	1 pack	\$	5.00		
Lotion	1 pack	\$	5.00		
Toothpaste	1	\$	5.00		
Toothbrush	1	\$	5.00		
Mouthwash		† .	3.00		
IVIOGETIVASTI	1 1		5.00		
Razor	1	\$	5.00		
Razor	1	\$	10.00		
Shaving Cream	1 1	\$ \$	10.00 5.00		
Shaving Cream *Electric Razor	1 1 1	\$ \$ \$	10.00 5.00 50.00		
Shaving Cream *Electric Razor *Electric toothbrush	1 1 1 1	\$ \$ \$ \$	10.00 5.00 50.00 35.00		
Shaving Cream *Electric Razor *Electric toothbrush Hand Soap	1 1 1 1 1 (4 pack)	\$ \$ \$ \$	10.00 5.00 50.00 35.00 5.00		
Shaving Cream *Electric Razor *Electric toothbrush Hand Soap Toilet tissue	1 1 1 1 1 (4 pack) 1 (12 pack)	\$ \$ \$ \$ \$	10.00 5.00 50.00 35.00 5.00 15.00		
Shaving Cream *Electric Razor *Electric toothbrush Hand Soap	1 1 1 1 1 (4 pack) 1 (12 pack) 1 Box	\$ \$ \$ \$ \$	10.00 5.00 50.00 35.00 5.00 15.00 5.00	ıç	
Shaving Cream *Electric Razor *Electric toothbrush Hand Soap Toilet tissue	1 1 1 1 1 (4 pack) 1 (12 pack) 1 Box	\$ \$ \$ \$ \$	10.00 5.00 50.00 35.00 5.00 15.00	es.	
Shaving Cream *Electric Razor *Electric toothbrush Hand Soap Toilet tissue	1 1 1 1 1 (4 pack) 1 (12 pack) 1 Box	\$ \$ \$ \$ \$	10.00 5.00 50.00 35.00 5.00 15.00 5.00	es	
Shaving Cream *Electric Razor *Electric toothbrush Hand Soap Toilet tissue	1 1 1 1 1 (4 pack) 1 (12 pack) 1 Box	\$ \$ \$ \$ \$	10.00 5.00 50.00 35.00 5.00 15.00 5.00	es S	

Any other item must have prior approval from DOM attached to billing OR Items that are over the approved amount.

Maximum amounts are not to be exceeded without prior approval. *If electric toothbursh OR Electric Razor is purchased manual toothbursh/razor is not authorized.



Items	Maximum Allowed	Max	rimum Cost	Needs	Approved
throom					
Bath Towels	4	\$	20.00		
Hand Towels	4	\$	10.00		
Wash Cloths	10	\$	10.00		
Shower Curtain & Liner	1	\$	20.00		
Shower Hooks	1 Package	\$	5.00		
Small trash can	1	\$	10.00		
Non-slip bath Mat	1	\$	10.00		
Bath rug	1	\$	10.00		
*Loofa (4 wash cloth max)	1	\$	3.00		
	Other Items Red	uested	Below for Bathroo	m	
Any o	ther item must have pri	or appro	val from DOM att	ached to billing	
droom	·				
Blanket/Bed in Bag	1	\$	50.00		
Sheet Sets	2	\$	40.00		
Pillow	2	\$	15.00		
Alarm Clock	1	\$	10.00		
Mattresspad/Protector	1	\$	20.00		
Bed frame	1	\$	200.00		
Mattress/Box spring	1 each	\$	500.00		
Small Trash Can	1	\$	10.00		
Bed Table	1	\$	100.00		
Dresser	1	\$	300.00		
	Other Items Re	quested	Below for Bedroor	n	
					+

Any other item must have prior approval from DOM attached to billing OR Items that are over the approved amount. Maximum amounts are not to be exceeded without prior approval. Always attempt to get bedroom package deals instead of individual pieces.



pproved
ed amount.
kage deals
·
-
pproved
<u> </u>
-
·

We will not authorize items such as Steak, Shrimp, and other items that are not considered essential to transition for pantry items. Please be responsible and make request for items that you are unsure of prior to purchase or they will not be approved.



Items	Maximum Allowed	Maximum Cost	Needs	Approved	
Other Items Requested (Applian	ces, Goods, Furnishings	s, Ect.) MUST HAVE DO	CUMENTATION AND	PRIOR AUTHORIZATION	
				+	
				+	
				_	
				_	
				+	
				-	
				_	
				_	
				+	
				+	
Any ot	her item must have pric	or approval from DOM	attached to billing		
For items not on list: documentation as to the need of the item is required for prior approval.					



Signature Page					
Signature of Community Navigator					
Approved Denied	Date				
Comments/ Reason for Denial					
Signature of DOM Staff					